QUISII PRpL

m— :?__h_

QH|E TR

QH|EO] ofL{X| EH




o R 2%

« SRV QX|o| MAPF EX|Y UE2 BA

= TRLO| QXY LEVL SAIOI ¥ 4 oS
S| - UEEE Moz £ YKo MAPDF EXY LB A

—

R

= QH|ES sirlo] 2ix} 2

\ = X2} "‘Iﬂa - Mt_ 'b‘pl'

= 80~90%FYEE FAHHOR ¢ =2 HEZQ = F2t
= QH|EI2 0§ Il EX| ot

= WX of|X|of et So2ts QH|EO| FuH US




0 QH|EfO| HVH(QKIA)

e

« QIX{H ZQIo| AP EXY 4 YU FHQHIQ o2 N =X

« 2t QUH|EIE 2P| Yol FRLA L
$ ¥R20l B3

. YL

. QUKL (LURLA)

. RED|QRES

. (ATIYRS)

- ZURLA, WOBARL, KD|QAIAZ QH|S T

s ATQAALE OIS Ofof Yl WAL §

P
o

%

—

8
h0y
1

|




2024 otxl. A -
i gl g | o EAL e i o &
o™ @

= T —

- ZQUAA . QH|SIO] o x| ZOI(HAIAT)S B

BAVTREYTY) QU DY 2B

= Xp2| oA . QH|Ero] HiLta HXN

« ATIQRFA HRIO] KPH WD LENY (ATIRP|QRLA)

; p. 2Hlgt 2 p, SHE A

<

RE2| QA4




| |
AR () g

= 2¥Xt(n)
= QH|EfO] o AZE I AEX| BUCUX] EH EH)
= QXpHD IR H P (oL X| EY %) P
= AXpAHOfN °*°1’é'-‘.‘-§ oAuX| ZH =OHH(EAB) N
= A2t 222 AUR EHZL FOIS e AN
» QH|E BIfME FER+E W Foll 2X2 BOIY
ex%xréﬂ
| FeH=n) 1 AL
|




2024
242t

SHSA (=2 A,

o - 1 ——

" TASTA0)
= QH|FO| IFE HAU
. ZYS 20H3 Zx
» ZYRAI} noj® nof Zx|
r YR N2 FQ YAYKL = 0, 1, -, n-1

. QH|Y EOloJAE YA Hofl 2|22 B

W EF
I R B N, - - 2

QH|E O|Z s p d
N
OO 0 0 1 0 L
QH|Ef 1s 2s 2p 3s 3p

—




aen - Kp2 L%*’_‘f—f-(mg) , s

= Xt2| ¥ At4=(m)
" QU|EMO| ZAN YES HA
| . SIRASE 2 T ¢+t 2741 ) EX)

. r
Ll - SRR 0 (sQUIE) : RIURHE 0 4ol glooz gt Zx)
| - SRREA 1 (pQUHIE) AP -1, 0,41 poH|Eo] swwoR E
\ . HOL% OO':XTA 2 (dngEf) . XI'D OOI:XI-¢ -29 -19 Os +1s +2

= QH|SO| HO|ofAlL WKL Q2Z of2jof At E|GHC

P 2H{EE <) ¥ py, 2H1E Z] v | P
o z x
A s QHIE A p2HE

== e — T = - R




2024
242t

A FXt2(m,)

- AIQEREA (=ATIXED|QRtA)
» WO AT HEQ BA
OfLt

1 1
"+oEE-5ET

+ QH|SI0] ofL|2} 2 QH|SI| ZXYoLE HAIS

e

=L RS
T T o

ot
o

xp40|ct.




2024 O
Bjotr _Ot_xgé — ' e 3

= o ——  — S——
)

FURRAM)  WRKLA()




Q|9 B

2024
2ol

ZURL 2
ALK 2
A2IBRRA 1, 0, +1 5 ofLt




2 QH|Efo| FD| .

2| T BHO| G2 O TAYK, QUIE HNE 82 |
3

2 -]
ot ST 2o Qs olyaYo| QH|Y )

LR
ZUR}S 2
VAL 2




wen - 2HIE O OfJUA] F

.1.':.'
- QH|Er9| oX| EY &
- 44 Y%}

S| ERDL o) glon2 wxpHt FAIY| QI2Te2 ofu1X| E9%t ZHE
J . QAL 2O ofux| ZOt 28
= OU{X| =: 1s <28 =2p<3s=3p=3d<4s =4p = 4d = 4f -
= CHMXF YUK} (44 0|2]9| |X})
= X2t of2] of oo AUXHDIO| Q1 Q|of&: FHX|Rto| Yhifad Jy2tsjjof ot
*F = 2YAR0L BOE2tE QU|EEZ oUX|] =29t cra US
i " 15<25<2p<3s<3p<4s<3d<4dpK<




- 2

(202 QH 29 ouX| EH

Y
W”I ":= = e . ‘L:o'-
: - ik e ot
of of 1p -0
LR n=1—0—000—00000 - 3d-00000-
3p -0
=3—@— 00— 0000
n=3 o 3 3d n=3| 3s-@-
2p 9909
= — @
n=2 5 2 n=2 2s @
n=1—@- n=1 1s-@-
1s
A HX} CHEXt Xt

————— — S e =)







